N & o & AF & H Al A
20149 S0la LB H MK
AN HEX 0
M M2 2 MEHs SH(2aX22/H
S NYMEHMSALE &5 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
M= Xl 2t 7,246,089 13,283, 180 A6,037,091
J| 149,664
< 528,237
Al 6,568, 188
e 2 MEls S (2322 /M=) 7,036,969 7,462,505 AN 425,536
J| 149,664
< 528,237
Al 6,359,068
NSHEHSAIE &S 1,170,961 2,212,588 A 1,041,627
< 450,000
Al 720,961
MEICXNSHH 222 209,201 182,828 26,373
101 @124l 103,461 96,888 6,573
04 JIZHHZ2XNHESE S+ 103,461 96,888 6,573
OMAIUMSHE 22l (2Y) 33,474
ool 41,6803 x2H »233 19,423
oFXtrg 41,6803 «2H x48L 4,002
oIt 41,680 «2H x 122 1,001
oxdU2RRY 62,5203 «2H x48L 6,002
oI0AZIS AHEE = 23,424 ,000& x13% 3,046
OMABIUUMSHEH MSZ2 B2 AH(3Y) 69,987
ool 53,450 *3H 233 37,362
oFXtrg 53,4503 «3H x48L 7,697
cHIt+E 53,4503 *3H x 12 1,925
oxdZ2ESd 80,1753 «3H x48L 11,546
o A2H2l =G 9,720 *3H *4Al 2tx48Y 5,599
oc=0dAZa S 4HEEE 45,059,000 *13% 5,858
201 LEr2 Y| 83,740 85,940 ~2,200
01 At 2teltl 24,140 26,540 A 2,400
OB+t 15,740,000& 15,740
O= &l 4,200,000 4,200
ogxz 4,200,000 4,200
02 =224l 59,600 59,400 200
O33RSLAA 50,000,000 50,000
O A& & HlS X bl 9,600,000 9,600
206 T2 HI 2,000 0 2,000
01 =8l 2,000 0 2,000
O=CxsdEeH22 Mg 2 2,000,000 2,000
401 Al HI L ROl 17,000 0 17,000
01 A& HI 17,000 0 17,000
O=eXNSHdEH SRS+ FH 10,000,000 10,000




2A4: MR
HiM: M2 U MEHE 4 (232 /HE)
e NLMEHSIAE &= (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
oz e d HAHAZ2 &X 7,000,000& 7,000
405 XHo&HF S HI 3,000 0 3,000
01 XA E B F S| 3,000 0 3,000
OE | el 3,000,000& 3,000
HEeds g2 & 51,760 59,760 A 8,000
201 Bt 19,480 19,480 0
01 AP 22| H| 19,000 19,000 0
OgYbt4=24| 16,000,000 16,000
(OF=1=1s] 3,000,000 3,000
02 24| 480 480 0
O2Z2Y A 480,000 480
202 04 d| 29,280 29,280 0
01 2Ll 29,280 29,280 0
o2 =&l 29,280,000& 29,280
203 ¥ R = &H| 3,000 3,000 0
03 Al 2 =& 2 = X H| 3,000 3,000 0
OFEZRL HESHA SX =X
2,000,000& 2,000
OMESAE =48 R2FA 1,000,000& 1,000
2% MEXSIAIE X4 400,000 800,000 A 400,000
= 300,000
Al 100,000
401 AIEHIZL 201 Y| 400,000 800,000 A 400,000
= 300,000
Al 100,000
01 Al&H| 400,000 794,960 A 394,960
O=2Y MEHSAE =4 400,000,000 400,000
= 300,000
Al 100,000
Aozt A A 300,000 0 300,000
< 150,000
Al 150,000
401 AlEHIZL 2 0HY| 300,000 0 300,000
< 150,000
Al 150,000
01 Al& H| 299,000 0 299,000
OA o sAHE A 299,000,000 299,000
= 150,000
Al 149,000
03 Al 201 Y| 1,000 0 1,000
oAUl BAHE AR 1,000,000 1,000
AEHILIAZ JHE 2 210,000 0 210,000




2N
X ZH -
L= B

el

=X
HE 2 HEHS SC(2L2AZ/HS)
ANYHEHSAE =S

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 A& HIZ 201 I 210,000 0 210,000
01 A& HI 208,500 0 208,500
OAMEHLULAZ HE=> 208,500,000 208,500
03 Al 20 HI 1,500 0 1,500
OAMEHUAE HE S 1,500,000& 1,500
HMEAIE 22 & WS 5,202,388 4,649,556 552,832
J| 149,664
= 78,237
Al 4,974,487
o= 243 XA 24,922 76,924 A52,002
< 3,306
Al 21,616
301 et d=s 4,000 4,000 0
09 SALAHIEAS 4,000 4,000 0
OZOML HM=IUa sd8 AHIEH
4,000,000 4,000
307 gl2tol & 20,922 72,924 A 52,002
< 3,306
Al 17,616
02 RIZHENEXS 13,000 66,000 A 53,000
O0Zg =sotel M=sds & 22X
4,000,000 4,000
Ok HHe MUz =& FHIX
4,000,000 4,000
O0Zdg =sotel =diis & Z2H N2
3,000,000& 3,000
OA=Z ZoHe MEM=sUa & 3H N
2,000,000 2,000
03 MElHHEXZS 7,922 6,924 998
OZOML HM=ssotel &5 XNE 7,922,000 7,922
< 3,306
Al 4,616
AEXXSE AGAY 30,000 30,000 0
307 glz2+ol & 30,000 30,000 0
02 QItFAE XS 30,000 30,000 0
oArx==2d X& 30,000,000& 30,000
dasas 54 N 22,000 22,000 0
< 4,800
Al 17,200
307 21201 A 22,000 22,000 0
< 4,800
Al 17,200
03 At HHEES 22,000 22,000 0
OMEN= NIASAE 24 2,000,000& 2,000
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AN HEX 0
M M2 2 MEHs SH(2Y2Z/Hs)
Sel HSAA Bel oL ATSH EEREED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 800
Al 1,200
OANzZMEXN=a XA 20,000,000& 20,000
< 4,000
Al 16,000
ozd dsgs N 121,440 66,240 55,200
J| 60,720
Al 60,720
307 21201 A 121,440 66,240 55,200
J| 60,720
Al 60,720
03 Al ME XS 121,440 66,240 55,200
oOzZ4 MEXNSXEZI BHXI 121,440,000& 121,440
J| 60,720
Al 60,720
MEHs Z20d X3 19,440 19,440 0
= 4,664
Al 14,776
307 glz2tol & 19,440 19,440 0
< 4,664
Al 14,776
02 QIZtFAE XS 19,440 19,440 0
odMaxszZzd 29 19,440,000 19,440
< 4,664
Al 14,776
AN MERSNCX X2 121,440 110,400 11,040
J| 60,720
Al 60,720
307 21201 A 121,440 110,400 11,040
J| 60,720
Al 60,720
03 Ml HHEEXS 121,440 110,400 11,040
OMEMSX =Xt BHXI 121,440,000 121,440
Jl| 60,720
Al 60,720
MEH WA 20,160 20,160 0
< 4,838
Al 15,322
307 21201 A 20,160 20,160 0
= 4,838
Al 15,322
03 At SHHIE XS 20,160 20,160 0
odatisns 29 20,160,000& 20,160
< 4,838
Al 15,322
AL IHRH™ ALY 40,320 30,240 10,080
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2A4: MR
MY M2 U MBS S4(2HYAZ/AS)
Sl MSAL B2l YL TS (29l & 2)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O =l 4,000,000& 4,000
O A& Z&H KXYl 30,000,000& 30,000
O2Z2Y A 120,000, 000& 120,000
OXtEHe] 6,500
oxtssU 4,000,000& 4,000
oXtY #=2l, KA &2lyl 2,500,000& 2,500
206 M EH| 7,000 9,600 A 2,600
01 XHZ H| 7,000 9,600 A 2,600
oOMsa & 28 XYM 2
4,000,000& 4,000
OMsa &« SUHMSANE B 2+
3,000,000& 3,000
307 2I2t0| A 200,000 180,000 20,000
05 QIZ2tREF 2 200,000 180,000 20,000
OMMIEIESESE ALHE &C PIE2E
100,000,000 100,000
OMNIESES2SE AHE &C K2
100,000,000 100,000
401 Al HI L E0HHI 886,000 710,000 176,000
01 Al&HI 884,488 710,000 174,488
OHNOIEEH B4 & AU 30,000,000 30,000
oot 2sJ1+ &l 80,000,000 80,000
OsUM=SAE A2 L A
50,000,000 50,000
OMESANEE RAE4L 2 AHdHl  200,000,000& 200,000
OZTEHS2HL HoAlE & 25,000,000 25,000
OAMNEHE2 A8tEZT WX 15,000,000& 15,000
o249 d 2X 04 208,488,000 208,488
OHOIE=H ox&LC AX 70,000,000 70,000
o0=2&d KX B 10,000,000 10,000
OMNIEZE2SE FIUE 22X HY
150,000,000 150,000
OAMALEH L& 25I/7 DA
30,000,000 30,000
osixssW 2SI &AX 16,000,000& 16,000
03 Al 201 Y| 1,512 0 1,512
O2AE AN 2X 0 210,000,000 «0.72% 1,512
405 XHAHFE S HI 20,000 159,000 A 139,000
01 XAt 2 EF S| 20,000 159,000 A 139,000
OETYI M4 L S (HII4 7
20,000,000 20,000
M= M=z XS 123,200 133,200 A 10,000




AN HEX 0
M M2 2 MEHs SH(2Y2Z/Hs)
Sl HMSAE 2ol U AHEH CERED
. SfE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
201 L2l 5,000 5,000 0
03 A2 Z Hl 5,000 5,000 0
O&= & Tt U3 A 22 5,000,000 5,000
301 L2 AZ 3,200 3,200 0
09 HALAHIEA S 3,200 3,200 0
OXR(Z)HS MSHA ZIOHA AH 24
3,200,000& 3,200
307 21201 A 115,000 125,000 A 10,000
02 2B AEXS 10,000 10,000 0
OX=2(Z)Ual X L Hal 2ZHl X
10,000,000 10,000
04 QIZtHAIB X3 105,000 115,000 A 10,000
OHMoss M=M=l sdE ZH X2
5,000,000& 5,000
Od=dx=AHU3 =X A 100,000, 000& 100,000
NaEc? sz X 525,000 1,099,000 A 574,000
307 glz2tol & 525,000 1,099,000 A 574,000
02 QIZHEAMNEXS 515,000 849,000 A 334,000
OHM53s TCIMNE sd&ds E&H N2
60,000, 000& 60,000
OHM53s TCIME E=&8EH 2 225 ¢
10,000, 000& 10,000
OHM53s TCIMAE s=&d3H X2
180,000, 000& 180,000
OHMb53s TLIMAE AT A=
10,000, 000& 10,000
OM53s TME 6+ S4H|
200,000,000 200,000
OdXZdE ®#x34 XA 10,000, 000& 10,000
OM=el ZLHOHE OH=lAH XI& 5,000,000 5,000
OA M=zl 318 g&a K& 40,000,000 40,000
04 RIZIHAIE RS 10,000 250,000 A 240,000
o2& M=sE#HAH(HS) SLXS 10,000,000 10,000
sSuds 4 287,000 751,000 A 464,000
308 AXIEH S0l 287,000 751,000 A 464,000
06 I 20HUSEEXS 287,000 751,000 A 464,000
OZddg = -3t MUz & Zd XN&
9,000,000& 9,000
CgIHE Sd83= ¥ =51 s72%F |
o X2 150,000, 000& 150,000
OMEUEZI = - =S SEMsUH XA
8,000,000 8,000




2N
X ZH -
L= B

el

5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ONsSHE FOHE 28 Sd53¢ &4l X
2 100,000, 000& 100,000
OoZd ==t SEM=sUHa XA
20,000, 000& 20,000
MEH=ss X3 238,000 246,200 A 8,200
307 glz2+ol & 238,000 246,200 A 8,200
02 QI2tFAE XS 238,000 226,200 11,800
O03g Hz2d MEHsUHE &=8FH X
12,000, 000& 12,000
OZ=E YEM=sUa FH X
85,000,000 85,000
OEtHe MEMSMHS =83H &
8,000,000 8,000
02014 L N}FEAEX DT 2
10,000,000& 10,000
OHM25sl & MEMSUHE &=8FH XA
90,000, 000& 90,000
oMatis E=28 ZH 2L XA
3,000,000& 3,000
OMEMESX A =4l NI (HHLHI)
20,000, 000& 20,000
OclE0r=& 2938 XA 10,000, 000& 10,000
A -HH HM=gds =S4 165,000 120,000 45,000
307 glz2+ol & 45,000 20,000 25,000
02 BB AEXS 30,000 0 30,000
OAMEAINS2 AIR= 22| 30,000,000& 30,000
03 A3l SHHE XS 15,000 20,000 A5,000
OMEAXN=S 298 XA 15,000,000& 15,000
403 UtXISHHS =0l & 120,000 100,000 20,000
02 3|23 0l CHSHCH 2 At & HI 120,000 100,000 20,000
OUSAZxHE +=3F 2dH X2
120,000, 000& 120,000
g dEHSH=EA X 861,301 0 861,301
= 12,000
Al 849,301
101 14 Hl 7,301 0 7,301
04 JIZHHZ2XREES 7,301 0 7,301
OHM253 2 MEMSUSHE JI2AHMI 2R 2!
2 7,301,000& 7,301
201 L2l 4,000 0 4,000
01 At 22l 4,000 0 4,000
OR255 B MEHSHEHE 42 =X
4,000,000 4,000




M HEXH B
M M2 2 MEHs SH(2Y2Z/Hs)
S MSALE 22l 2 AWEH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 850,000 0 850,000
< 12,000
Al 838,000
04 QIZtHAIE XS 850,000 0 850,000
ORM253 Z2d HEMSUSA Nzl XS
850,000, 000& 850,000
< 12,000
Al 838,000
MELC-S0tctEHe XA 126,000 126,000 0
< 5,000
Al 121,000
201 Let24] 6,000 6,000 0
03 A2 Z Hl 6,000 6,000 0
OMBEL-SOItENSE 29 6,000,000& 6,000
307 21201 A 100,000 100,000 0
< 5,000
Al 95,000
04 QIZtHAIB X3 100,000 100,000 0
OHM9sl A =ZS0tct=EUS Ml
100,000, 000& 100,000
= 5,000
Al 95,000
401 AIEHI L 2 CHYI 20,000 20,000 0
01 A& HI 20,000 20,000 0
OHN9sl A -S0lct=UaE HA HIISH
L DA LA 2SS EX 20,000, 000& 20,000
d=S40E KA 10,000 10,000 0
307 glz2+ol & 10,000 10,000 0
04 BIZtHAIE XS 10,000 10,000 0
OXN6al AFMAIEH d=SaUa X2
10,000, 000& 10,000
MG AICHE XI& 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZtHAIE XS 10,000 10,000 0
OHM28al MEAIEI MILICHHAILE JHE
10,000, 000& 10,000
H200L=0 HAAZ =S K& 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
04 QIZHHAIE X = 30,000 30,000 0
OMbLE AIMAIZE &= OF0tF0 HAAE=
=l XI& 30,000,000& 30,000
dIozel =0s XA 6,000 0 6,000




M HEXH B
M M2 2 MEHs SH(2Y2Z/Hs)
Sl HMSAE 2ol U AHEH CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 6,000 0 6,000
04 QIZtHAIE XS 6,000 0 6,000
©2014 MMEAIEH 82222 s2UE X
6,000,000& 6,000
ASA=Cial = 250,000 0 250,000
307 glz2tol & 250,000 0 250,000
04 QIZtHAIE X = 250,000 0 250,000
OHM158 M HM=UE N 250,000,000 250,000
nsstn AZ=30t2l e dsUal X 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
04 QIZtHAIE XS 20,000 20,000 0
OMME MEAFI(ZLUME X 4 HY)
nssty AZEZF0tel e M=0aE =
20,000, 000& 20,000
ESE ANEI Ms0H KA 30,000 0 30,000
307 21201 A 30,000 0 30,000
04 QIZHHAIE RS 30,000 0 30,000
OZ=E ANZEI HM=Us Hzl X
30,000,000& 30,000
2014 MTB 2 E2IUa X2 20,000 0 20,000
307 21201 A 20,000 0 20,000
04 BIZtHAIE RS 20,000 0 20,000
©2014 MTB 2 =eltia X2 20,000,000& 20,000
AEL HEHM X 6,000 5,000 1,000
307 21201 A 6,000 5,000 1,000
03 MtlEHHEXZ 6,000 5,000 1,000
OMBAISLAHE S AEL HEM XA
6,000,000 6,000
INREIDN TSIV NN E= PN EDNE| 5,000 0 5,000
307 21201 A 5,000 0 5,000
03 At HHEXS 5,000 0 5,000
OAMBA RHEHAES AMUXGEAHAHHEE XA
5,000,000& 5,000
AMor220] tHa K& 15,000 0 15,000
307 glz2+ol & 15,000 0 15,000
04 QIZtHAIE XS 15,000 0 15,000
OARIAZZIIUs X 15,000, 000& 15,000
H25a 2SMEUHsE d3MF J1& Z2II048 X2 15,000 0 15,000
307 21201 A 15,000 0 15,000




2A4: MR
MY M2 U MBS S4(2HYAZ/AS)
Sl HMSAE 2ol U AHEH CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
04 Q2tHAIE X = 15,000 0 15,000
OHM253 Y MEsUHsdE 43 Mzl JI&
2 I3l JH= 15,000,000 15,000
d=2TH=2c201Y Hal X 20,000 10,000 10,000
& 10,000
Al 10,000
307 2iz2to| A 20,000 10,000 10,000
& 10,000
Al 10,000
04 QIZ2tSHALE X 2 20,000 10,000 10,000
OHM11a AFEAIEH =2 IHHZ22H01E Ta
N = 20,000,000 20,000
& 10,000
Al 10,000
2014WKBLE MY SH =20 & - Ds72U 3 50,000 0 50,000
307 2Iz2to| A 50,000 0 50,000
04 QIZ2tSH AL X 2 50,000 0 50,000
©2014 WKBLEMBISHE=Z2H NS DAs2Ua X
2 50,000,000& 50,000
AYTXAD MEHME AMZOUE HUA HE A& 11,200 0 11,200
307 QI2t0| ™ 11,200 0 11,200
04 Q2tHAIE X = 11,200 0 11,200
OHM63 BEEZXAD MEME AZUHE HLU
A W3l W= 11,200,000 11,200
433 ==Y SAHFILdL=FUE X3 150,000 0 150,000
& 30,000
Al 120,000
307 giztol A 150,000 0 150,000
& 30,000
Al 120,000
04 QIZtSHALE X 2 150,000 0 150,000
OHM43s d=2FYE SA&ZIId=HUs X
150,000,000 150,000
= 30,000
Al 120,000
Allegd 22 29 663,620 600,361 63,259
AUl d 22 29 508,620 476,761 31,859
101 Q124 H| 92,220 62,409 29,811
04 JI2ZtHIZ2 2 NEES 92,220 62,409 29,811
OFHEAAE 22l (HE L otLHA) 53,591
o Qlfel 41,6803 x3H 233 29,135
oFXY 41,6803 x3% 48 6,002




SN HSHAD
Hi: M2 2 HEHE 4 (2sL2E/H=)
Sl AAYT Bl 2 (S &2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
o=0ldg S 401 E€ & 35,138,000 *13% 4,568
oA2A2RFE 8,490 «3H #2Al 2t 47 2,395
oIt 41,680 «3H 122 1,501
S ] 62,5203 «3H 482 9,003
o g gl 7,000 »3H »47 987
OwstAY DA AMBRX ALY
6,414,000& 6,414
OaU=gH MENZX(1Y) 32,215
=Jlza 53,4503 2332 12,454
o d Mg AHI 100,000& =122 1,200
ol|Zg 1,495,800& *400% 5,984
oFi=xd 53,4503 =482 2,566
o=0AZIS AHEE= 24,708,000 «13% 3,213
o A2 E 11, 1403 x9A| 2++25 2,507
o3| 7,000 x252! 175
colRtaY 53,4509 *52 268
cgYuaesy 80, 1572 x4 3,848
201 €24 377,400 377,352 48
01 ArR 22l 30,400 30,400 0
OBt~ 10,400
o = ZH| 8,000,000 8,000
CURB (A, HIQH BRI, HAI| S)
2,400,000 2,400
o=l 20,000,000& 20,000
02 2324l 347,000 346,952 48
OZ2Z2SLAA 75,000,000 75,000
ozl 150,000, 000& 150,000
O A& &EHlS Xl 100,000, 000& 100,000
O Xt& & Byl 22,000,000& 22,000
206 i & bl 39,000 37,000 2,000
01 =4l 39,000 37,000 2,000
OaU+ZE ASAZT Y 30,000,000 30,000
CaU=ZH JIH XML 5,000,000 5,000
OaW==gZ M), A=2 M7 E
2,000,000 2,000
OaU==gZ B &435 ¢ -
2,000,000 2,000
AU=ZE AL S 165,000 123,600 31,400
401 Al HI 2 2Ol 115,000 80,000 35,000
01 A& HI 115,000 80,000 35,000
O+ E4E Wi 35,000,000 35,000
oaU+=gd &8 E= 80,000,000& 80,000

_12_




SN BA(SA) - MRAY - BES il HImEET
405 RHoHE S HI 40,000 43,600 A 3,600
01 AL EZFH S 40,000 43,600 A 3,600
oaUl+=g& g% 2% P& 30,000,000 30,000
CAU=ZE HLEI Y 5,000,000 «2CH 10,000
dS(MESI) (222 /M) 100,000 0 100,000
HEHHXZ 100,000 0 100,000
I3HES 100,000 0 100,000
702 JIS3HES 100,000 0 100,000
M II2dE3 100,000 0 100,000
OM=s2AEIZ BES 100,000, 000& 100,000
2 ZH(MS X2 2)(IEH/IIE) 109,120 348,968 A 239,848
2l 109,120 108,120 1,000
=&l 109,120 108, 120 1,000
201 Let24d] 7,000 6,000 1,000
01 At 22l 7,000 6,000 1,000
O R<IEat=:] 4,500,000 4,500
o=l 2,500,000& 2,500
202 04l 97,920 97,920 0
01 = LH o4 1l 97,920 97,920 0
O2UEF NI 240,000& *34H 123 97,920
203 YR =&l 4,200 4,200 0
04 RN2ELRZ=TH| 4,200 4,200 0
ORN2Y 2= 4,200,000 4,200




